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Sec 4E Chemistry 6092 

Preliminary Examination 2018 

Mark Scheme 

 

Paper 1 

1 C 11 C 21 D 31 D 

2 A 12 D 22 B 32 B 

3 D 13 B 23 B 33 C 

4 A 14 B 24 B 34 C 

5 D 15 D 25 A 35 D 

6 C 16 A 26 A 36 A 

7 C 17 A 27 A 37 C 

8 B 18 D 28 D 38 D 

9 D 19 D 29 A 39 A 

10 D 20 A 30 C 40 C 

 

 

Paper 2 Section A 

 

A1 (a) (i) D & E [1] 

  (ii) B [1] 

  (iii) B, D, G [1] 

  (iv) C & G [1] 

 (b) PbSiO3 [1] 

    

A2 (a)  substance oxidation state 

(i) Cu 0 

(ii) Cu2O +1 

(iii) Cu3(CO3)2(OH)2 +2 

(iv) Cu4SO4(OH)6 +2 
 

[1] 

    

 (b) (i) Reaction (2) is a redox reaction. [ correct but no marks] 

 

Cu2O is oxidised to CuO as the oxidation state of copper 

increases from +1 to +2. [1] 

 

O2 is reduced to CuO as the oxidation state of oxygen 

decreases from 0 to -2 [1] 

 

Since oxidation and reduction occurs simultaneously reaction is 

redox.  

 

 

 

 

 

 

 

 

[2] 

 

  (ii) Reaction (4) is not a redox reaction [1] as the oxidation state of 

copper remained at +2, oxygen at -2 , sulfur at +6 and hydrogen 

at +1 during the reaction. [1] 

 

 

[2] 


